5€m~F>ZLCBSClS)'-@MPN I Mic~o "'UTOCCSSOT{NO\/BQ_O]’? ~.

Q.P. Code: 22633

Time 3 hrs. Max Marks: 80

Notes: 1. Q. | is compulsory
2. From remaining answer any 3 questions.
3. Draw neat diagram wherever necessary

Q.1  a) Write instruction issue algorithm used in Pentium. 5
b) Draw format of selector and explain its field. 5
¢) Explain power on reset circuit used in 8086 system. 5
d) Discuss control word format for Bit Set Reset (BSR) mode of 8255 PPL 5
Q.2  a) Explain maximum mode of 8086 microprocessor. 10
b) Interface three 8259s with 8086 in minimum mode and explain its functionality
in fully nested mode. 10
Q.3  a) How flushing problem is minimised in Pentium? Explain. 10
b) Draw block diagram of Super SPARC and explain in brief. 10
Q4.  a) Discuss data cache organisation of Pentium. 10
b) Explain address translation mechanism used in 80386 DX. 10
Q.5  a) Design 8086 based system with following specifications. 10
i) 8086 is working in minimum mode at 10 MHz.
ii) 8KB EPROM using 2 KB chips.
iii) 16 KB SRAM using 8 KB chips.
Discuss system with memory address map.
b) Draw and explain EFLAG register format of 80386 DX. 10
Q.6 Answer any four. 20
a) Write addressing modes of following instructions of 8086.
i) MOV al, [bx + si] i) AND cl, [2000]
iii) ADD ax, [bx + si + 2000] iv) IN al, dx
v) POP BX

b) Draw and discuss timing diagram for read operation in minimum mode of 8086.
¢) Explain memory segmentation of 8086.

d) Explain in short data types of SPARC.

e) List features of 8253.
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N.B. (1) Question no 1 is compulsory

= 12) Explain the following in brief :
1) Explain hardware support for paging.

12) What is deadlock ? Explain necessary. and sufﬁcxenbeondttnons to occur deagilc)ck\" < &

QBS q)._cm PN T2825/T0497 OPERATING SYSTEMS/ Noy - é - CO d e 22650
(3 Hours)

[TotaPMarks 80}

(2) Attempt any three questions out of remaining five questions . t_j

Attempt any four

(1) What is mutual exclusion? Explain its significance.
(ii) Explain the concept of Segmentation. ST
(iii) What is Semaphore? Explain any one type of Semaphore .
(iv) Explain services provided by Operating system. :
(v) What is use of modify bit and present bit in page tgbl_'é.?‘ S

1) Process Synchronisation i) Inter-Process Commun\catlon L

10
Suggest techniques to avoid deddlock

'5) Assume followmg processes arrive for exccution at the tlme mdicated and length of CPU burst 10

time given in ms. e doralapicad \ O R Sl S d
Process | Burst Tiirie A Arnval Time Priorify,‘*
Pl 0o o J A0 e Lo A S
P2 .+ Tl R I S
P3 S SE S TN SIS T
,-;TP'4"“ L S F IR S|
[P5— R 1 & K 3

Find AWT ATAT for FCFS SJF (NoQ—preemptwe) & Round Robm (Quantum — 3 ms)

& (2) Whatare the vanous a]locanon methods w1th referenc‘,e-to file systems. 10
L) Calculate hl( and miss- percentage forxt’he fo]lowmg strlng using page replacement policies 10
FI.FQ LRU and Optimal. Compare it for the. ﬂ'me size 2 and 4.
; 2030423032720750,1,570
-3 h) We assu;pe a dxsk’thh 200 tracks and dlSk request queue has random requests in it.
B - The requesfed tracks in the order. received by disk scheduler, are 55,58,39,18,90,160,150 ,38,184.
Starting attrack-100. Calculate average seek length using FIFO, SSTF, SCAN and C-SCAN.
- G:ve Wthh dlsk schedulmg 1s best for this scenario. 10
) Explam I/O management in UNIX 10
& Wme a short note on the followmg (Any Four) 20

‘ (a)Resource allocatxon graph
- {®) Process contfolblock

-~ =) System components in Windows architecture
- 1%} Scheduling in° Llnux System

~ §2) Virtual memory
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(1) Question no. 1 is compulsory. B e e
(2) Attempt any three questions from remaining, el o e S

(3) Assume suitable data wherever necessary.

Q1. (a) What is system? Which are the components of sYstem‘? Wha 2
between structured and object oriented system‘? :

Q3. (a)What is the 1mportance of data ﬂow dlagrarn {DF'”) in Structured analyms and
design? Draw DFD for su1table example ST o (10)

(b) What are the dlﬂ'erent fypes of cost-benef t aualys:s"‘ Explam ROI method with
example ; ' i (10)

Q4. (a)What ‘.IS thc use o“fdeployment and compcnent diagram‘? Prepare deployment and

compbnent dlagram for ATM wsystf:m -y (10)

(b) Explam mbdelmg apphcatlon archltecture (10)

Q5 (a) Explam the need f'Or system _mtegrlty, coritrol and security. (10)
(b) What is thc purpose of use caSe dlagram‘? Draw use case diagram with include

and extends rclatlonsths for raﬂway reservation system. (10)

Q6 Wntc sh{art notes (any two) - (20)

a) SRS document

'b) Demgn of user mterface

_.'c) Requvemenbgathermg techniques

d) Boundary cIass entlty class and control class

EC406A17DOF6BDSEC46A223E51C4ACF9
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Q. P. Code: 24644
(Time: 3hrs) ( Marks 80)
N.B.: (1) Question No. 1is compulsory .
(2) Attempt any three questions out of remaining questions .

(3) Make suitable assumptions whenever necessary.

Q1:a) Explain the need of layered design for communication and networking .Compare the OSI

reference model &TCP/IP. (10)

Q1: b) i) How does the token Bucket Algorithm work? (5)
ii) Explain in short different framing methods. (5)

Q2: a) What is IPV4 Protocol ?Explain the Ipv4 Header format with diagram. (10)
b) Explain sliding window protocol using Go Back —N technique. (10)
Q3: a) What are transport service primitives? Explain (10)
b) What is congestion control? Explain various Congestion prevention policies. (10)
Q4: a) Explain CSMA Protocols. How are collisions handled in CSMA/CD (10)

B) What are the steps involved in link state routing ? Explain the contents and requirements (10)
of link state packets .
Q5: a) Explain with the help of suitable diagram TCP connection management and release (10)
b) Write a program for client server application using socket programming (TCP) (10)
Q6: Write a Short notes on the Following (20)
i) Virtual LAN
ii) SNMP
i) SMTP

iv) DNS
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